HREX—TIK1 (A4 A

THMEeFE1AS

ASLSATEAKE (REME) KEHBRERBES GHERE)

KRR 8:30

KEHBHRE (BLIEKE HKHF (EK )
B Xz SE | KE | A& E pH |7ILAY | BE | &% |&EtY| & Ty | E E
E BEM | A4 Y
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 B 9.0 8.8 4.0 7.89

2 ) 7.0 9.1 2.3 8.06

3 & 3.0 7.9 2.4 7.86

4 & 6.5 8.1 2.1 8.01

5 & 6.0 9.0 2.8 8.09

6 & 3.0 8.5 2.8 7.95

7 & 3.5 8.5 2.4 8.01

8 & 2.0 8.4 2.9 8.13

9 & 1.0 7.3 2.5 7.90

10 & 1.0 6.9 2.1 7.84

11 & 7.0 1.5 2.4 7.98

12 & 1.0 7.1 3.1 8.13

13 & 0.0 1.2 2.4 7.96

14 & 1.0 1.4 2.9 8.16

15 & 2.0 6.4 2.3 7.98 56.8 | 78.7 145 8.9 0.17 0. 02
16 & 4.0 7.0 2.2 7.88

17 & 1.0 5.9 10.5 7.88

18 & 3.5 7.0 3.5 8.10

19 & 8.5 8.3 2.7 7.88

20 5] 8.0 9.6 3.2 8.05

21 [55] 9.0 9.2 4.1 7.89

22 ) 1.5 8.4 51.2 1.67

23 & 4.0 8.6 12.7 1.76 53.2 | 75.1 156 7.3 0.69 0.02
24 & 1.0 8.3 6.0 71.81

25 & -2.0 6.1 4.2 1.73

26 & -1.0 6.1 3.9 1.79

217 & 4.0 6.7 3.0 1.74

28 ) 5.0 7.0 3.0 7.76

29 & 2.5 7.4 3.6 1.79

30 & 2.5 8.0 3.2 7.78

31 & 2.5 8.8 3.6 71.81
Ty 3.6 7.8 5.2 7.91 55.0 | 76.9 151 8.1 0.43 0. 02
== 9.0 9.6 51.2 8.16 56.8 | 78.7 156 8.9 0.69 0.02
=IE -2.0 5.9 2.1 1.67 53.2 | 75.1 145 7.3 0.17 0. 02




HREX—TIK1 (A4 A

THME6eFE1A%S

SLSATERAKE CREME) KESRRERBEE FER)

KRR 8:30

KEHBHRE (BLIEKE HFKt (GFK )
B Xz SE | KE | A& E pH |7ILAY | BE | &% |&Y| & v | E
E HEM| A4 H
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 B 9.0 9.1 0.9 1.79

2 ) 7.0 9.5 1.1 71.81

3 & 3.0 8.7 1.0 1.79

4 i 6.5 8.6 1.1 7.82

5 & 6.0 8.9 1.0 7.85

6 & 3.0 8.4 0.6 1.75

7 & 3.5 8.3 1.0 1.73

8 & 2.0 8.1 1.2 1.74

9 & 1.0 1.5 1.0 1.75

10 & 1.0 7.0 1.0 7.78

11 & 7.0 7.3 1.0 1.74

12 & 1.0 7.0 1.3 7.60

13 & 0.0 6.8 1.0 7.68

14 & 1.0 7.0 1.3 7.68

15 & 2.0 6.5 1.0 1.73 54.4 | 74.5 110 9.9 0.05 0. 02
16 & 4.0 6.5 0.8 1.79

17 & 1.0 6.5 1.3 1.79

18 & 3.5 6.3 1.3 1.67

19 & 8.5 7.3 1.4 1.71

20 5] 8.0 8.6 1.5 71.81

21 [55] 9.0 9.4 1.8 1.74

22 ) 1.5 9.2 2.8 1.57

23 & 4.0 8.3 1.1 71.56 46.8 | 64.9 140 8.5 0.09 0. 02
24 & 1.0 8.2 1.2 1.57

25 & -2.0 7.4 1.3 7.59

26 & -1.0 6.0 1.1 7.64

217 & 4.0 6.0 0.9 71.61

28 ) 5.0 6.4 1.0 7.66

29 & 2.5 6.7 0.7 7.63

30 & 2.5 1.5 0.7 1.67

31 i 2.5 7.9 0.7 7.64
Ty 3.6 7.6 1.1 1.1 50.6 | 69.7 125 9.2 0.07 0. 02
== 9.0 9.5 2.8 7.85 54.4 | 74.5 140 9.9 0.09 0. 02
=IE -2.0 6.0 0.6 7.56 46.8 | 64.9 110 8.5 0.05 0. 02




